Published on *Mechanical Engg Simple Notes*, Solved problems and Videos (<u>https://mechdiploma.com</u>)

<u>Home</u> > In an Ideal ottocycle the air at the beginning of isentropic compression is at 1.01325 bar and.....

In an Ideal ottocycle the air at the beginning of isentropic compression is at 1.01325 bar and.....

## **Question:**

In an Ideal ottocycle the air at the beginning of isentropic compression is at 1.01325 bar and 20°C. The compression ratio is 8. If the heat added during constant volume process is 250 kJ/kg. Determine : a) Maximum temperature in the cycle b) Air standard efficiency

c) Work done per cycle

d) Heat rejected

## Answer:

$$g \cdot 2 \cdot g \cdot g$$

$$f \cdot v \cdot n d d t a \quad 0 + t \circ Ug C t = 1$$

$$F_1 = 1 \cdot 0 \cdot 192 \cdot 5 + ar$$

$$T_1 = 2 \circ^0 c + 273 = 2g \cdot 3 \cdot K$$

$$f = \left(\frac{V_1}{V_2}\right) = \theta$$

$$g \wedge z = 250 \cdot t \cdot 5 \cdot 5 \cdot 6$$

$$G \wedge z = 250 \cdot t \cdot 5 \cdot 5 \cdot 6$$

$$Considering process 1 - 2, P \vee Y = C$$

$$T_2 = \left(\frac{V_1}{V_2}\right)^{-1} = \left(\frac{V_1}{V_2}\right)^{-1} = \left(\frac{V_1}{V_2}\right)^{-1}$$

$$T_2 = T_1 \cdot \left(\frac{2}{V_1}\right)^{-1}$$

$$T_2 = T_1 \cdot \left(\frac{2}{V_1}\right)^{-1}$$

$$T_2 = 1 - \frac{1}{(E_3r_1)} = 1 - \frac{1}{(E_3r_1)}$$

$$h = 1 - \frac{1}{(E_3r_1)} = 1 - \frac{1}{(E_3r_1)}$$

$$h = \frac{1 + 1}{1 + 2} \cdot 5 \cdot 5 \cdot \frac{1}{(F_3)}$$

$$M = \frac{1 + 1}{1 + 2} \cdot 5 \cdot \frac{1}{(F_3)}$$

$$M = 1 + t = t = abb \cdot 0$$

$$M = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$M = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$M = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$M = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$M = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$M = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$M = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$M = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$M = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb \cdot 0 - t + abb \cdot 0$$

$$H = 1 + abb$$